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While Bart is passing Anne's friend (AF), one of Bart's friends (BF),
whose clock is synch'ed with Bart's, is passing Anne.  
What does BF's clock read?
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In Bart's IRF, Anne is moving, so her clock runs slow 
against Bart's and his friends'.  Anne first compares her 
clock with Bart (both read 12:00) and then with Bart's 
friend's (her reads 12:02).  Two minutes have passed 
Anne's slower clock, so more than 2 minutes have passed 
in Bart's IRF, so the green clock must show later that -> 
answer is 12:04.
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What does the clock 
in green show?

A) 12:00

B) 11:56

C) 12:01

D) 12:03

E) 12:02
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What does the clock 
in green show?

A) 12:00

B) 11:56
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E) 12:02

All the clocks moving with the same speed 
must run at the same rate.
If one minute passes for Bart, one minute
must pass for his friend.



  

Unstable elementary particle are produced traveling at v=0.6c 
with respect to an observer in a laboratory.  These particles have
a typical intrinsic lifetime of 100ns. 

In the frame of the observer, how long will the particles
typically last before decaying?

A)  They won't decay while moving

B)  100ns

C)  120ns

D)  175ns

E)   80ns

(1-0.62)-1/2 = 1.25
100ns * 1.25 = 125ns
Answer is C, sorry for the typo!


